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L. Evaluate the definite integral.
2.i"2+l g 2 2 G o -’/2/)
(a]/.' ‘d:r"g/x*/)x 5&‘=§€‘ +x” ) ol
/ €T ” //L
et e St
: %MH ]4, x—/u/]q,
341 . “fatl S,
%3 2
= % % /J ;/Z ;/2
5% ] * '/z j 5 (""‘ '>*$(‘2 Y
252 - 4p A
; 5 Vi 2 5 ’
(b) /E/a_f{xz—ﬁ}drz S%J/X'rq)aé‘ =§(96/3+2— /3%//’290@
. | I
1 ? 3+] 5/4.,,/ b
:S(%%-x%)ﬂ&é =2 2 j
3'7’3# S+l
///4} /% ~ o '/éjf
= /o/j e /0 Al /
- 2B _ b 3 i
= /o T p” - o T
b ARSI
:/—‘(5)—[/0029>——/—/’8/J’/4’>— I *T
9
(c) /|J:—-.1‘|d.r
X X0 _ ke
M'{x,gwo [x-x?= {’5"‘3 xz-x370 %(1-x) >0
),y <o 2(1-2) =-2 <0
. Yali-h)= "1y =0
¥-x*, o o02%</ s AR
—/x-)cz)/ %[ X<0 or Xz/
[#-2%co on  [lo]
Ix-x¥»0 on (o, D)
lk-x4<0  on (//.,Z)
2 ¢ 3 0 2 3 f 2 3 2
= § ()vx%@mg!x 2+ § - vy = - (25 »”ﬁ— +/J£__ 26_) (xS x?
o / 3 -1 ;L 3 ° 2 3 )
NG )
ST T (5544
A
= utA 7 -(2- % “2:)
S+t 4L F
3 T2 -7 =




wir1_sol.notebook January 25, 2016

)~ a*raab+£*
(d)

[(aeg)ur - Sl any @)

1

g%:@ﬂ[)‘/i'c 9 / 2 q
- v - | %
B §< x+2 + X)O&C ,[$ +2x+&/%/}ﬁ
3L g+ nlif - (L&, 5+ en/@
= —I 1{ +
65
=22 nla/- £5 9
?’v v +enfaf-en 4 | £ +5,7/¢/
1
2 1 x? !
U)[ I+]+Q—+1 dr = g"*%'(’af&éa/ﬂjéo
T
S%:W%v‘(’ﬂ
* =5/~+/+a/re;ézm/ —M
’ 'Wi’/% o
s @
MT = Tz
T T
(f) [ secxtanz dr = Jdecx ]3% = ST~ sec T
3/
¥ = -1+t ,’7;“ = -] + 2=z
K(fecx)fz ec x -ﬁa/w] * 2

2. If f(3) =12, f' is continuous, and [f’(:f) dxr = 20, what is the value of f(5)7
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4. If f is continuous and [ f(u)du = 3, find [ 2 f(2*)dz by making an appropriate substi-
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